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Name :  _____________________ 

Grade  :  VI I I                                    

Subj ect  :  Mathemat ics 	     

Chapter  :  5.  Data Handling   

 1 Marks 

 

 

1. The height  of  r ect angle in a hist ogr am shows t he :            [NCERT Exemplar]  

  (a) Widt h of  t he class   (b) Upper  limit  of  t he class  

  (c) Lower  limit  of  t he class   (d) Fr equency of  t he class   

2. A geomet r ic r epr esent at ion showing t he r elat ionship bet ween a whole and it s par t s is a :  

[NCERT Exemplar]  

  (a) Pie char t   (b) Hist ogr am  (c) Bar  gr aph  (d) Pict ogr aph  

3. I n a pie char t , t he t ot al angle of  t he cent r e of  t he cir cle is :             [NCERT Exemplar]  

 (a) 180°   (b) 360°  (c) 270°  (d) 90°  

4.  The r ange of  t he dat a 30, 61, 55, 56, 60, 20, 26, 28, 56 is :             [NCERT Exemplar]  

  (a) 26   (b) 30   (c) 41  (d) 61  

5. Which of  t he f ollowing is not  a r andom exper iment  ?             [NCERT Exemplar]  

  (a) Tossing a coin      

  (b) Rolling a dice  

  (c) Choosing a car d f r om a deck of  52 car ds  

  (d) Thr owing a st one f r om a r oof  of  a building  

6. What  is t he pr obabilit y of  choosing a vowel f r om t he alphabet s ?             [NCERT Exemplar] 

   (a) 
ଶଵଶ଺  (b) 

ହଶ଺     (c) 
ଵଶ଺  (d) 

ଶଷ଺ 

7. I n a school only, 3 out  of  5 st udent s can par t icipat e in a compet it ion. What  is t he pr obabilit y  

    of  t he st udent s who do not  make it  t o t he compet it ion ?            [NCERT Exemplar]  

  (a) 0.65  (b) 0.4   (c) 0.45   (d) 0.6  

  St udent s of  a class vot ed f or  t heir  f avour it e colour  and a pie char t  was pr epar ed based  

 on t he dat a collect ed.  

  Obser ve t he pie char t  given below and answer  quest ions 8 - 10 based on it .  

Object ive Type Quest ions 

I .  Mult iple choice quest ions 
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8. Which colour  r eceived  of  t he vot es ?                [NCERT Exemplar] 

  (a) Red    (b) Blue   (c) Gr een    (d) Yellow  

9. I f  400 st udent s vot ed in all, t hen how many did vot e ' Ot her s'  colour  as t heir  f avour it e ?  

[NCERT Exemplar]  

  (a) 6   (b) 20  (c) 24   (d) 40  

10. Which of  t he f ollowing a r easonable conclusion f or  t he given dat a?          [NCERT Exemplar] 

   (a)  t h st udent  vot ed f or  blue colour   

  (b) Gr een is t he popular  colour   

  (c) The number  of  st udent s who vot ed f or  r ed colour  is t wo t imes t he number  of   

        st udent s who vot ed f or  yellow colour   

  (d) Number  of  st udent s liking t oget her  yellow and gr een colour  is appr oximat ely t he  

                 same as t hose f or  r ed colour .  

11. List ed below ar e t he t emper at ur e in °C f or  10 days. -6, -8, -7, 0, 3, 2, 1, 5, 4, 4  

[NCERT Exemplar]  

   What  is t he r ange of  t he dat a ?  

  (a) 8   (b) 13°C   (c) 10°C   (d) 12°C  

12. Ram put s some but t ons on t he t able. Ther e wer e 4 blue, 7 r ed, 3 black and 6 whit e but t ons  

      in all. All of  a sudden, a cat  j umped on t he t able and knocked out  one but t on on t he f loor .  

      What  is t he pr obabilit y t hat  t he but t on on t he f loor  is blue ?             [NCERT Exemplar]  

   (a)   (b)      (c)   (d)  

13. Rahul, Var un and Yash ar e playing a game of  spinning a colour ed wheel. Rahul wins, if  spinner   

     lands on r ed. Var un wins, if  spinner  lands on blue and Yash wins, if  it  lands on gr een. Which of   

     t he f ollowing spinner  should be used t o make t he game f air ?            [NCERT Exemplar] 
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   (a) (i)   (b) (ii)  (c) (iii) (d) (iv)  

14. I n a f r equency dist r ibut ion wit h classes 0 - 10, 10 - 20 et c, t he size of  t he class int er vals                  

      is 10. The lower  limit  of  f our t h class is : [NCERT Exemplar ]  

  (a) 40   (b) 50   (c) 20   (d) 30  

15. A coin is t ossed 200 t imes and head appear ed 120 t imes. Pr obabilit y of  get t ing a head in t his  

     exper iment  is    [NCERT Exemplar ] 

 (a)    (b)    (c)    (d)   

1. (d) 2. (a) 3. (b) 4. (c) 5. (d) 6. (b) 7. (b) 8. (c) 

9. (c) 10. (d) 11. (b) 12. (c) 13. (d) 14. (d) 15. (b)  

 

  

 

1. The height  of  a r ect angle in a hist ogr am shows t he         [NCERT Exemplar] 

 a. widt h of  t he class  b. upper  limit  of  t he class 

 c. lower  limit  of  t he class d. f r equency of  t he class 

2. List ed below ar e t he t emper at ur e in 0C f or  10 days.         [NCERT Exemplar] 

  -6, -8, 0, 3, 2, 0, 1, 5, 4, 4 

 What  is t he r ange of  t he dat a?  

  a. 80 b. 130C c. 100C d. 120C 

3. A gr aph showing t wo set s of  dat a simult aneously is known as         [NCERT Exemplar] 

 a. pict ogr aph  b. hist ogr am c. pie char t  d. double bar  gr aph 

 

I I .  Mult iple choice quest ions 
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4. Dat a r epr esent ed using cir cles is known as 

  a. bar  gr aph b. hist ogr am c. pict ogr aph d. pie char t  

5. Dat a collect ed in a sur vey shows t hat  40% of  t he buyer s ar e int er est ed in buying a par t icular   

    br and of  t oot hpast e. The cent r al angel of  sect or  of  t he pie char t  r epr esent ing t his  

    inf or mat ion is           [NCERT Exemplar] 

 a. 1200 b. 1500 c. 1440 d. 400 

6. What  is t he pr obabilit y of  choosing a vowel f r om t he alphabet s?         [NCERT Exemplar] 

  a.   b.  c.  d.    

7. Which of  t he f ollowing is not  a r andom exper iment ?        [NCERT Exemplar] 

  a. Tossing a coin   

 b. Rolling a dice  

 c. Choosing a car d f r om a deck of  52 car ds 

 d. Thr owing a st one f r om a r oof  of  a building 

8. Ram put  some but t ons on t he t able. Ther e wer e 4 blue, 7 r ed, 3 black and 6 whit e but t ons in  

    all. All of  a sudden, a cat  j umped on t he t able and knocked out  one but t on on t he f loor . What   

    is t he pr obabilit y t hat  t he but t on on t he f loor  is blue?         [NCERT Exemplar] 

  a.   b.   c.  d.  

9. A coin is t ossed 12 t imes and t he out comes ar e obser ved as shown below.  

 

 The chance of  occur r ence of  Head is             [NCERT Exemplar] 

 a.  b.    c.   d.  

10. A dice is t ossed t wo t imes. The number  of  possible out comes in           [NCERT Exemplar]

 a. 12 b. 24 c. 36 d. 30 
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11. A glass j ar  cont ains 6 r ed, 5 gr een, 4 blue and 5 yellow mar bles of  same size. Har i t akes out   

     a mar ble f r om t he j ar  at  r andom. What  is t he pr obabilit y t hat  t he chosen mar ble is of  r ed  

     colour ?              [NCERT Exemplar] 

 a.   b.  c.   d.  

12. Tot al number  of  out comes, when a ball is dr awn f r om a bag which cont ains 3 r ed, 5 black and  

     4 blue balls is              [NCERT Exemplar] 

 a. 8 b. 7 c. 9 d. 12 

13. Number  1 t o 5 ar e wr it t en on separ at e slips, i.e., one number  on one slip and put  in a box.  

     Wahida pick a slip f r om t he box wit hout  looking at  it . What  is t he pr obabilit y t hat  t he slip  

     bear s an odd number ?              [NCERT Exemplar] 

 a.   b.  c.   d.  

14. A coin is t ossed t hr ee t imes. The number  of  possible out comes is           [NCERT Exemplar]  

 a. 3  b. 4 c. 6 d. 8 

1. d 2. b 3. d 4. d 5. c 6. b 7. d 

8. c 9. b 10. c 11. b 12. d 13. c 14. d 

 

 

 

1. Dat a available in an unor ganised f or m is called ______________ dat a. [NCERT Exemplar ]  

2. I n t he class int er val 20 - 30, t he lower  class limit  is ______________. [NCERT Exemplar ]  

3. I n t he class int er val 26 - 33, 33 is known as ______________.  [NCERT Exemplar ]  

4. The r ange of  t he dat a 6, 8, 16, 22, 8, 20, 7, 25, is ______________. [NCERT Exemplar ]  

5. A pie char t  is used t o compar e ______________t o a whole. [NCERT Exemplar ]  

1. r aw 2. 20 3. upper  limit  4. 19 5. par t s 

 

 

 

1. I n a pie char t  a whole cir cle is divided int o sect or s. [NCERT Exemplar ]  

2. The cent r al angle of  a sect or  in a pie char t  cannot  be mor e t han 180°. [NCERT Exemplar ]  

3. Sum of  all t he cent r al angles in a pie char t  is 360°. [NCERT Exemplar ]  

4. I n a pie char t  t wo cent r al angles can be of  180°. [NCERT Exemplar ]  

5. I n a pie char t  t wo or  mor e cent r al angles can be equal. [NCERT Examplar ]  

I .  Fill in the blanks 

I .  True or False 
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1. Tr ue 2. False 3. Tr ue 4. Tr ue 5. Tr ue 

 

 

 

 

1. Read t he f r equency dist r ibut ion t able given below answer  t he quest ions t hat  f ollow :  

[NCERT Exemplar ]  

Class I nt erval Frequency 

25 - 35 1 

35 - 45 5 

45 - 55 5 

55 - 65 4 

65 - 75 0 

75 - 85 8 

85 - 95 2 

Tot al  25 

 

  (a) Class int er val which has t he lowest  f r equency.  

  (b) Class int er val which has t he highest  f r equency.  

  (c) What  is t he class size of  t he int er vals ?  

  (d) What  is t he upper  limit  of  t he f if t h class ?  

  (e) What  is t he lower  limit  of  t he last  class ?  

Sol.   (a) 65 - 75 

  (b) 75 - 85  

  (c) 10  

  (d) 75  

  (e) 85  

 

 

 

 

 

I .  Very Short  Answer Type Quest ions.  
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2.  Given below is a f requency dist ribut ion table.  Read it  and answer t he quest ions that   

    f ollow.   

Class int erval Frequency 

10 - 20 5 

20 - 30  10 

30 - 40 4 

40 - 50 15 

50 - 60 12  

 

   (a) What  is t he lower  limit  of  t he second class int er val ?  

   (b) What  is t he upper  limit  of  t he last  class int er val ?  

 (c) What  is t he f r equency of  t he t hir d class ?  

  (d) Which int er val has a f r equency of  10 ?  

  (e) Which int er val has t he lowest  f r equency ?  

  (f ) What  is t he class size ? [NCERT Exemplar ]  

Sol.    (a) 20  

  (b) 60  

  (c) 4  

  (d) 20-30  

  (e) 30-40  

  (f ) 10  

3.  Classif y t he f ollowing st atement s under , - SPpropriat e headings.  [NCERT Exemplar]  

  (a) Get t ing t he sum of  angles of  a t r iangle as 180°.  

  (b) I ndia winning a cr icket  mat ch against  Pakist an.  

  (c) Sun set t ing in t he evening.  

  (d) Get t ing 7 when a die is t hr own.  

  (e) Sun r ising f r om t he west .  

  (f ) Winning a r acing compet it ion by you.  

Cert ain t o happen I mpossible t o happen May or may not  happen 
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Sol.    (a) Cer t ain t o happen  

  (b) May or  may not  happen  

  (c) Cer t ain t o happen  

  (d) I mpossible t o happen  

  (e) I mpossible t o happen  

  (f ) May or  may not  happen  

4.  Look at  t he hist ogram below and answer the quest ions that  f ollow.  [NCERT Exemplar]  

 

  (a) How many st udent s have height  mor e t han or  equal t o 135 cm but  less t han 150 cm ? 

 (b) Which class int er val has t he least  number  of  st udent s ?  

  (c) What  is t he class size ?  

  (d) How many st udent s have height  less t han 140 cm ?  

 Sol.    (a) 14 + 18 + 10 = 42  

  (b) 150-155  

  (c) 5  

  (d) 6 + 8 +14 = 28   
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1.  I f  we change the posit ion of  any of  t he bars of  a graph,  would it  change the  

   inf ormat ion being conveyed? Why?  

  I f  t he height  of  a bar  r emains unchanged, t hen changing of  it s posit ion does not  change 

t he inf or mat ion being conveyed.  

2.  The f ollowing pie chart s gives you a dif f erent  piece of  inf ormat ion about  your class.   

    Find the f ract ion of  t he circle represent ing t he inf ormat ion.    

  

3.  Answer the f ollowing quest ions based on the pie chart  given.   

  (i) Which t ype of  pr ogr ammes ar e viewed t he most ?  

  (ii) Which t wo t ypes of  pr ogr ammes have number  of  viewer s equal t o t hose wat ching 

spor t s channels?  

 

Sol.   (i) The ent er t ainment  pr ogr ammes ar e viewed t he most .  

  (ii) The news and inf or mat ive pr ogr ammes have t he equal number  of  viewer s t o t hose 

wat ching spor t s channels.  

4.  Which f orm of  graph would be appropriate t o display the f ollowing data? Product ion of   

    f ood gains of  a st at e is given below.   

Year 2001 2002 2003 2004 2005 2006 

Product ion (in lakh t ons) 60 50 70 55 80 85 

   A bar  gr aph will be an appr opr iat e r epr esent at ion of  t he above dat a.  

 

I I .  Very Short  Answer Type Quest ions.  
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5.  Which f orm of  graph would be appropriate t o display the f ollowing data? Choice of  f ood  

    f or a group of  people is given below.   

Favourit e f ood Nort h I ndian  Sout h I ndian  Chinese  Ot hers  Tot al 

Number of  people 30  40  25  25  120 

  A cir cle gr aph (or  a pie char t ).  

6.  Which f orm of  graph is appropriat e t o display t he f ollowing dat a? The daily income of  a  

    group of  a f act ory workers is given below.   

Daily income (in ' ) Number of  workers (in a f act ory) 

75-100 45 

100-125 35 

125-150 55 

150-175 30 

175-200 50 

200-225 125 

225-250 140 

Tot al 480 

  A hist ogr am would be appr opr iat e r epr esent at ion of  t he above dat a.  

7.  When a die is t hrown,  what  are t he possible outcomes?  

  The possible out comes ar e 1,2,3,4,5 or  6.  

8.  You have a bag wit h f ive ident ical balls of  dif f erent  colours (White,  red,  blue,  green  

   and yellow) and you are t o pull out  a ball wit hout  looking at  it .  List  the out comes you  

   would get .   

  The possible out comes ar e W, R, B, G or  Y.  

9.  When you spin the wheel shown,  what  are t he possible out comes?  

   The possible out comes ar e A, B or  C.  
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1.  Given below are the height  (in cm) of  11 boys of  a class :   

  146, 143 ,148, 132, 128, 139, 140, 152, 154, 142, 149 Ar r ange t he above dat a in ascending 

or der  and f ind :  

  (a) t he height  of  t he t allest  boy.  

  (b) t he height  of  t he shor t est  boy.  

  (c) t he r ange of  t he given dat a. [NCERT Exemplar ]  

Sol.   Ar r anging t he given dat a in ascending or der , we get  t he height  (in cm) as :  

  128'  132, 139, 140, 142, 143, 146, 148, 149, 152, 154.  

  (a) 154  

  (b) 128  

  (c) 26  

2.  The f ollowing pie chart  depict s t he expendit ure of  a st at e government  under dif f erent   

    heads.                   [NCERT Exemplar]  

  (a) I f  t he t ot al spending is 10 cr or es, how much money was spent  on r oads ? 

  (b) How many t imes is t he amount  of  money spent  on educat ion compar ed t o t he amount  

spent  on r oads ?  

  (c) What  f r act ion of  t he t ot al expendit ur e is spent  on bot h r oads and public welf ar e 

t oget her  ?  

 

Sol.    (a) Money spent  on r oads = 10% of  10 cr or es  

    = 
ଵ଴ଵ଴଴ x 10 cr or es = 1 cr or e    

  (b) Money spent  on educat ion = 25% of  10 cr or es  

       = 25000000  

    Money spent  on r oad = 10000000  

 ⇒  
ଶହ଴଴଴଴଴଴ଵ଴଴଴଴଴଴଴  - 2.5 t imes   

I .  Short  Answer Type Quest ions- 1 
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 (c) Tot al expendit ur e = 100000000  

        Money spent  on bot h r oads and public welf ar e  

     = 10% + 20% = 30% 

   So, f r act ion = 
ଷ	ୡ୰୭୰ୣୱଵ଴	ୡ୰୭୰ୣୱ 	 = ଷଵ଴ 

3.  Following are the number of  members in 25 f amilies of  a village 6,  8,  7,  7,  6,  5,  3,  2,   

    5,  6,  8,  7,  7,  4,  3,  6,  6,  6,  7,  5,  4,  3,  3,  2,  5.  Prepare a f requency dist ribut ion  

    t able f or the data using class intervals 0 - 2,  2 - 4,  et c.         [NCERT Exemplar]  

Sol.   

 

4.  The marks obt ained (out  of  20) by 30 st udent s of  a class in a test  are as f ollows :   

[NCERT Exemplar]  

    14,  16,  15,  11,  15,  14,  13,  16,  8,  10,  7,  11,  18,  15,  14,  19,  20,  7,  10,  13,  12,   

    14,  15,  13,  16,  17,  14,   

    11,  10,  20.  Prepare a f requency dist ribut ion table f or the above data using class  

    int ervals of  equal widt h one class interval is 4 - 8 (excluding 8 and including 4. )  

Sol.   
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5.  Draw a hist ogram t o represent  the f requency dist ribut ion f or the number of  members      

   in 25 f amilies of  a village 6,  8,  7,  7,  6,  5,  3,  2,  5,  6,  8,  7,  7,  4,  3,  6,  6,  6,  7 , 5,  4,   

   3,  3,  2,  5.                  [NCERT Exemplar]  

Sol.   

 

6.  Rit wik draws a ball f rom a bag that  cont ains whit e and yellow balls.  The probabilit y of   

   choosing a white ball is 
૛ૢ
 .  I f  t he t otal number of  balls in the 9 bag is 36,  f ind the  

   number of  yellow balls.   

Sol.   Let  no. of  yellow ball, in a bag = ݔ  

  Then, pr obabilit y of  choosing yellow ball  

     = ܲ(ܻ) =
௫ଷ଺  

  and pr obabilit y of  choosing whit e ball  

     ܲ(ܹ) =
ଶଽ (given)   

     ܲ(ܻ) 	 + 	ܲ(ܹ) 	 = 	1  

    
௫ଷ଺ 	+ ଶଽ 	 = 1 

    
௫	ା	଼ଷ଺ 	 = 1	 ⇒ ݔ + 8 = 36 

ݔ   ⇒    = 28 

    No. of  yellow balls = 28    

7.  Given below is a pie chart  showing t he t ime spend by a group of  350 children in  

   dif f erent  games.  Observe it  and answer the quest ions that  f ollow.   

  (a) How many childr en spend at  least  less t han one hour  in playing games ?  

  (b) How many childr en spend mor e t han 2 hour s in playing games ?  

  (c) How many childr en spend 3 or  lesser  hour s in playing games ?  
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  (d) Which is gr eat er  - number  of  childr en who spend 2 hour s or  mor e per  day or  number   

        of  childr en who play f or  less t han one hour  ? [NCERT Exemplar ]  

Sol.    (a) Less t han 1 hour  = 6% of  350 = 
଺		× 	ଷହ଴	ଵ଴଴ 	21  

        No.of  Childr en who spend at  least  less t han one hour  = 350 - 21 = 329  

  (b) Mor e t han 2 hour s = 34% + 10% + 4% = 48%  

      
ସ଼		× 			ଷହ଴ଵ଴଴ 	 =  168   

  (c) 3 or  lesser  hour s = 6% + 16% + 30% + 34% = 86% 

      
଼଺		× 		ଷହ଴ଵ଴଴  = 301  

  (d) 2 hour  or  mor e is gr eat er  number   

8.  I n a survey of  200 ladies,  it  has f ound that  82 like cof f ee while 118 dislike it .  From  

   t hese ladies,  one is chosen at  random.  What  is the probabilit y that  the chosen lady  

   dislikes cof f ee ?                [NCERT Exemplar]  

Sol.   Since, Tot al number  of  out comes = 200  

  and    Like cof f ee = 82  

  and         Dislike cof f ee = 118  

  We know t hat ,  

  Pr obabilit y of  an event  P (E)  

     =

୊ୟ୴୭୳୰ୟୠ୪ୣ	୓୳୲୭ୡ୫ୣୱ୘୭୲ୟ୪	୬୳୫ୠୣ୰	୭୤	୭୳୲ୡ୭୫ୣୱ 
  Then, P (dislike cof f ee) = 

ଵଵ଼ଶ଴଴ 	 = 	 ହଽଵ଴଴	  
 

 

1.  The t op speed of  t hirt y dif f erent  land animals have been organised int o a f requency  

   t able.  Draw a hist ogram f or t he given data.  [NCERT Exemplar]  

Maximum Speed (km/ h) 10-20 20-30 30-40 40-50 50-60 60-70 

Frequency 5 5 10 8 0 2 

 

I I .  Short  Answer Type Quest ions.  
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2.  Classif y t he f ollowing st atement  under appropriate headings.           [NCERT Exemplar]  

  (i) Get t ing t he sum of  angles of  a t r iangle as 180°.  

  (ii) I ndia winning a cr icket  mat ch against  Pakist an.  

  (iii) Sun set t ing in t he evening.  

  (iv) Get t ing 7 when a die is t hr own.  

  (v) Sun r ising f r om t he West .  

  (vi) Winning a r acing compet it ion by you.  

Sol.   

Cert ain t o happen I mpossible t o happen May or may not  happen 

(i) (iv) (ii) 

(iii) (v) (vi) 

 

3.  Rit wik draws a ball f rom a bag that  cont ains whit e and yellow balls.  The probabilit y 9 2  

   of  choosing a whit e ball is -  I f  the t otal number of  balls in the bag is 36,  f ind the  

   number of  yellow balls.                  [NCERT Exemplar]  

Sol.   Tot al number  of  out comes = 36  

  P(Choosing a whit e ball) = 
୒୳୫ୠୣ୰	୭୤	୵୦୧୲ୣ	ୠୟ୪୪ୱ	୘୭୲ୟ୪	୬୳୫ୠୣ୰	୭୤	ୠୟ୪୪ୱ   

    
ଶଽ  = 

୒୳୫ୠୣ୰	୭୤	୵୦୧୲ୣ	ୠୟ୪୪ୱ	ଷ଺   

  Number  of  whit e balls = 
ଶ		× 		ଷ଺ଽ = 		8  

  The number  of  yellow balls = 36 — 8 = 28  

4.  Look at  t he hist ogram below and answer the quest ions that  f ollow.  [NCERT Exemplar]  

 

  (i) How many st udent s have height  more than or equal t o 135 cm but  less t han 150 cm?  

  (ii) Which class int erval has the least  number of  st udent s?  
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  (iii) What  is the class size?  

  (iv) How many st udent s have height  less t han 140 cm?  

Sol.    (i) Number  of  st udent s having height  mor e t han or  equal t o 135 cm but  less  

                t han 150 cm = 14 + 18 + 10 = 42.  

  (ii) 150 — 155 have least  number  of  st udent s.  

  (iii) Class size = upper  class limit  — lower  class limit  = 155 — 150 = 5.  

  (iv) Number  of  st udent  having height  less t han 140 cm = 6 + 8 + 14 = 28.  

5.  Following are the number of  members in 25 f amilies of  a village: 6,  8,  7,  7,  6,  5,  3,  2,     

   5,  6,  8,  7,  7,  4,  3,  6,  6,  6,  7,  5,  4,  3,  3,  2,  5.  Prepare a f requency dist ribut ion  

   t able f or the data using class intervals [NCERT Exemplar]  

Sol.   

  

6.  Draw a hist ogram t o represent  the f requency dist ribut ion as per the t able given in  

    quest ion 5.  [NCERT Exemplar]  

Sol.   
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7.  The marks obt ained (out  of  20) by 30 st udent s of  a class in a test  are as f ollows:               

   14,  16,  15,  11,  15,  14,  13,  16,  8,  10,  7,  11,  18,  15,  14,  19,  20,  7,  10,  13,  12,   

   14,  15,  13,  16,  17,  14,  11,  10,  20.    

   Prepare a f requency dist ribut ion table f or t he above data using class int ervals of  equal  

   widt h in which one class int erval is 4 -  8 (excluding 8 and including 4).   

[NCERT Exemplar]  

 

 8.  Prepare a hist ogram f rom the f requency dist ribut ion table obt ained in quest ions? 

[NCERT Exemplar]  

 

9.  The weight  (in kg) of  30 st udent s of  a class are:  39,  38,  36,  38,  40,  42,  43,  44,  33,   

   33,  31,  45,  46,  38,  37,  31,  30,  39,  41,  41,  46,  36,  35,  34,  39,  43,  32,  37,  29,  26.   

   Prepare a f requency dist ribut ion table using one class int erval as (30 -  35),  35 not   

   included.        [NCERT Exemplar ]  

  (i) Which class has the least  f requency?  

  (ii) Which class has the maximum f requency?  

Sol.   

 

 

 

  (i) 25-30       (ii) 35-40  
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10.  Const ruct  a f requency dist ribut ion table f or t he f ollowing weight s (in grams) of  35  

     mangoes,  using t he equal class intervals,  one of  t hem is 40- 45 (45 not  included).            

     30,  40,  45,  32,  43,  50,  55,  62,  70,  70,  61,  62,  53,  52,  50,  42,  35,  37,  53,  55,   

     65,  70,  73,  74,  45,  46,  58,  59,  60,  62,  74,  34,  35,  70,  68.   

  (i) How many classes are there in t he f requency dist ribut ion t able?  

  (ii) Which weight  group has t he highest  f requency? [NCERT Exemplar]  

Sol.   

 

  (i) 9      (ii) 70-75  

 

11.  Draw a hist ogram f or t he f ollowing dat a.              [NCERT Exemplar]  

Class I nt erval 10-15 15-20 20-25 25-30 30-35 35-40 

Frequency 30 98 80 58 29 50 

Sol.   
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12.  The below hist ogram shows the number of  lit erate f emales in the age group of   

     10 t o 40 years in a t own.   

 

  (i) Wr it e t he classes assuming all t he classes ar e of  equal widt h.  

  (ii) What  is t he class widt h?  

  (iii) I n which age gr oup ar e lit er at e f emales t he least ?  

  (iv) I n which age gr oup is t he number  of  lit er at e f emales t he highest ? [NCERT Exemplar ] 

Sol.    (i) 10 — 15, 15 — 20, 20 — 25, 25 — 30, 30 — 35, 35 — 40 ar e t he classes of  equal  

       widt h.  

   (ii) 5 is t he class widt h.  

  (iii) 10 — 15 is t he age gr oup in which lit er at e f emales ar e t he least .  

  (iv) 15 — 20 is t he age gr oup in which lit er at e f emales ar e t he highest .  

13.  Draw an appropriate graph t o represent  t he given inf ormat ion.   

Mont h Jul.  Aug.  Sept .  Oct .  Nov.  Dec.  

Number of  wat ches sold 1000 1500 1500 2000 2500 1500 
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14.  Percent age wins in OD! by 8 t op cricket  t eams.   

 

 Dr aw a double bar  gr aph f or  t he above dat e.  

Sol.  Not e:  A bar  gr aph showing t wo set s of  dat a simult aneously is called a double-bar  gr aph. I t   

                  is usef ul f or  t he compar ison of  t he dat a.   

 

 

 

  

1.  The number of  cycles produced in a f act ory during f ive consecut ive weeks is given  

    below:  

Week First  Second Third Fourt h Fif t h 

Number of  cycles produced 800 1300 1060 920 1440 

 

  Dr aw a bar  gr aph r epr esent ing t he above inf or mat ion.  

Sol.   We can dr aw t he bar  gr aph by using t he f ollowing st eps :  

  St ep 1.  On a gr aph paper , dr aw a hor izont al line OX and a ver t ical line OY, r epr esent ing 

t he x-axis and y-axis r espect ively.  

I .  Long Answer Type Quest ions.  
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  St ep 2.  Along OX, mar k t he weeks at  point s t aken at  equal gaps.  

  St ep 3.  Choose t he scale :  

      1 small division = 20 cycles  

  St ep 4.  The height  of  t he bar s ar e : 1  x 800 ,20  

    Pr oduct ion in t he 1st  weak = ቀ ଵଶ଴ 		× 			800ቁ 

      = 40 small divisions  

   Pr oduct ion in t he 2nd weak = (
ଵଶ଴ 	× 1300 = 65  

  small divisions.  

  Pr oduct ion in t he 3r d weak = (
ଵଶ଴ 		× 	1300 = 53 small divisions.  

  Pr oduct ion in t he 4 t h weak = (
ଵଶ଴ 	 × 		920 = 46 small) divisions.  

  Pr oduct ion in t he 5 t h  weak = ቀ ଵଶ଴ 		× 		1440ቁ = 72 small divisions.  

  St ep 5.  Dr aw bar s of  equal widt h and height s calculat ed in st ep 4 at  t he point s mar ked  

                in st ep 2.  

The bar graph is shown below :     

 

2.  Shoes of  the f ollowing brands are sold in Nov.  4:107 at  a shoe st ore.  Const ruct  a pie  

   chart  f or t he dat a.                [NCERT Exemplar] 

Brand Number of  pair of  shoes sold 

A  130 

B  120 

C  90 

D  40 

E  20 
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Sol.   Tot al number  of  shoes = 400  

  We f ind t he cent r al angle f or  each sect or   

 

The pie char t  is  

 

 

3.  Draw a pie chart  f or t he given dat a.   

Favourit e f ood Number of  people 

Nor t h I ndian 30 

Sout h I ndian 40 

Chinese 25 

Ot her s 25  

 

 [NCERT Exemplar]  
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  Sol.  Tot al number  of  people = 120  

   We f ind t he cent r al angle f or  each sect or .  

 

   The pie char t  is  

 

4.  A dice in rolled once.  What  is the probabilit y that  the number on t op will be  

[NCERT Exemplar]  

  (a) Odd   

  (b) Gr eat er  t han 5  

  (c) A mult iple of  3  

  (d) Less t han 1  

  (e) A f act or  of  36  

  (f ) A f act or  of  6  

  Sol. (a) Tot al no. in a dice = 6  

     Odd = 1, 3, 5 i.e. 3 number s  

    Pr obabilit y = 
ଷ଺ 	 = ଵଶ	   

  (b) Gr eat er  t han 5 = 6 i.e. 1 number   
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   Pr obabilit y = 
ଵ଺  

  (c) Mult iple of  3 = 3, 6 i.e. 2 number s  

   Pr obabilit y = 
ଶ଺ = 	 ଵଷ 

  (d) Less t han 1 = no number  i.e. 0  

   Pr obabilit y =
଴଺ = 0 

  (e) Fact or  of  36 = 1, 2, 3, 4, 6 i.e. 5 number s  

   Pr obabilit y =
ହ଺  

  (f ) Fact or  of  6 = 1, 2, 3, 6 i.e. 4 number s  

   Pr obabilit y = 
ସ଺ = 	 ଶଷ 

5.  I n a hypothet ical sample of  20 people,  t he amount  of  money (in thousands of  rupees)  

   wit h each was f ound t o be as f ollows :   

  114, 108, 100, 98, 101, 109, 117, 119, 126, 131, 136, 143, 156, 169, 182, 195, 207, 219,      

235, 118.  

  Dr aw a hist ogr am of  t he f r equency dist r ibut ion, t aking one of  t he class int er val                

as 50 -100.  

[NCERT Exemplar]  

 

 

 

1.  Given below is a f requency dist ribut ion table.  Read it  and answer t he quest ions that   

    f ollow:  

Class I nt erval 10-20 20-30 30-40 40-50 50-60 

Frequency 5 10 4 15 12 

  i. What  is t he lower  limit  of  t he second class int er val?      [NCERT Exemplar ]  

  ii. What  is t he upper  limit  of  t he last  class int er val?  

  iii. What  is t he f r equency of  t he t hir d class?  

I I .  Long Answer Type Quest ions.  
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  iv. Which int er val has a f r equency of  10?  

  v. Which int er val has t he lowest  f r equency?  

  vi. What  is t he class size?  

Sol.   i. The second class int er val is 20-30.  

      The lower  limit  = 20.  

  ii. The last  class int er val = 50-60  

  iii. The upper  limit  = 60 The f r equency of  t he t hir d class (30-40) = 4  

  iv. The class int er val having f r equency 10 = 20-30  

  v. The int er val having lowest  f r equency = 30-40  

  vi. The class size = upper  class limit  - lower  class limit  = 20 - 10 = 10  

2.  Given below is a pie chart  showing t he t ime spend by a group of  350 children in  

    dif f erent  games.  Observe it  and answer the quest ions that  f ollow.  [NCERT Exemplar]  

  (i) How many childr en spend at  least  one hour  in playing games?  

  (ii) How many childr en spend mor e t han 2 hour s in playing games?  

  (iii) How many childr en spend 3 or  lesser  hour s in playing games?  

  (iv) Which is gr eat er  — number  of  childr en who spend 2 hour s  

       or  mor e per  day or  number  of  childr en who play f or  less t han one hour ?  

Sol.    (i) Tot al per cent age of  childr en who spend at  least  one hour  in playing games  

    = 16% + 30% + 34% + 10% + 4% = 94%.  

      Number  of  childr en who spend at  least  one hour  in playing games  

    = 94% of  350 =  x 350 = 329     

  (ii) Tot al per cent age of  childr en who spend mor e t han 2 hour s in playing games  

    = 34% + 10% + 4% = 48%  

       Number  of  childr en who spend mor e t han 2 hour s in playing games  

    = 48% of  350 =  x 350 = 168   

  (iii) Tot al per cent age of  childr en who spend 3 or  less hour s in playing games  

    = 34% + 30% + 16% + 6% = 86%  

         Number  of  childr en who spend 3 or  less hour s in playing games  

    = 86% of  350 =  x 350 = 301   

  (iv) Tot al per cent age of  childr en who spend 2 hour s or  mor e per  day 

     = 30% + 34% + 10% + 4% = 78%  

        Number  of  childr en who play 2 hour s or  mor e per  day  
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    = 78% of  350 = 
଻଼ଵ଴଴ x 350 = 273  

        Number  of  childr en who play f or  less t han one hour   

    = 6% of  350 =
଺ଵ଴଴ x 350 = 21  

       Ther ef or e, number  of  childr en who play f or  2 hour s or  mor e per  day is gr eat er .  

3.  The pie chart  below shows the result  of  a survey carried out  t o f ind the modes of   

    t ravel used by t he children t o go t o school.  St udy t he pie chart  and answer the  

    quest ions t hat  f ollow.                [NCERT Exemplar]  

  (i) What  is t he most  common mode of  t r anspor t ?  

  (ii) What  f r act ion of  childr en t r avel by car ?  

  (iii) I f  18 childr en t r avel by car , how many childr en t ook par t  in  

         t he sur vey?  

  (iv) How many childr en use t axi t o t r avel t o school?  

  (v) By which t wo modes of  t r anspor t  ar e equal number  of  childr en  

                t r avelling?  

Sol.    (i) The most  common mode of  t r anspor t  is Bus. 90°   

  (ii) Fr act ion of  childr en t r avel by car  = 360° = 4  

  (iii) 90° r epr esent  18 childr en 18  360° r epr esent s = 90 x 360 = 72 Hence, number  of  

childr en who t ook par t  in t he sur vey ar e 72  

 (iv) Cent r al angle f or  t axi = 360° - (60° + 120° + 90° + 60°) = 360° - 330° = 30° 30 

Number  of  childr en who use t axi =   360 x 72 = 6  

  (v) Cycle and walk ar e t he mode t hat  equal number  of  childr en ar e using.  

4.  A dice is rolled once.  What  is t he probabilit y that  the number on t op will be  

  (i) Odd      (ii) Gr eat er  t han 5              [NCERT Exemplar]  

  (iii) A mult iple of  3   (iv) Less t han 1  

  (v) A f act or  of  36   (vi) A f act or  of  6 

Sol.    On r olling a die, all possible out comes ar e 1, 2, 3, 4, 5, 6  

  Tot al number  of  possible out comes = 6  

  (i) Odd number  on t he t op of  a die = 1, 3, 5  

      Number  of  f avour able out comes = 3  

   P (get t ing odd number  on t he t op) = 
୒୳୫ୠୣ୰	୭୤	୤ୟ୴୭୳୰ୟୠ୪ୣ	୭୳୲ୡ୭୫ୣୱ୘୭୲ୟ୪	୬୳୫ୠୣ୰	୭୤	୭୳୲ୡ୭୫ୣୱ	  

        = 
ଷ଺ − ଵଶ   

  (ii) Number  of  f avour able out come = 1 (6 only)  
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    Requir ed pr obabilit y = 
ଵ଺ 

  (iii) Number  of  f avour able out comes = 2 i.e, 3 and 6   

  Requir ed pr obabilit y 
ଶ଺ =

ଵଷ	 
 (iv) Number  of  f avour able out come = 0 

   P(get t ing number  less t han 1) = 
଴଺ = 0 

  (v) Number  on t op t hat  ar e f act or  of  36 = 1, 2, 3, 4, 6  

   Number  of  f avour able out comes = 
ହ଺  

    P(a f act or  of  36) = 
ସ଺ ݎ݋		 ଶଷ  

  (vi) A f act or  of  6 = 1, 2, 3, 6  

        Number  of  f avour able out comes = 4  

         P(a f act or  of  6) = –
ସ଺ ݎ݋	 ଶଷ.  

5.  Shoes of  the f ollowing brands are sold in Nov.  2007 at  a shoe st ore.  Const ruct  a Pie  

    chart  f or t he dat a.                 [NCERT Exemplar]  

Brand A B C D E 

Number of  pair of  shoes sold 130 

 

120 90 40 20 

 

Sol. We know t hat  cent r al angle f or  a sect or  =
୚ୟ୪୳ୣ	୭୤	୲୦ୣ	ୡ୭୫୮୭୬ୣ୬୲୘୭୲ୟ୪	୚ୟ୪୳ୣ	 		x 360°  

  Her e t ot al number  of  pair  of  shoes = 400  

  Cent r al angle f or  a br and = 
୒୳୫ୠୣ୰	୭୤	ୱ୦୭ୣୱ	ୱ୭୪ୢ	୧୬	ୠ୰ୟ୬ୢ	୘୭୲ୟ୪	୒୳୫ୠୣ୰	୭୤	ୱ୦୭ୣୱ	ୱ୭୪ୢ 	x	360°	 

 Calculat ion of  cent r al angles:  

 

Const r uct ion of  pie char t   
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St eps of  Const r uct ion  

  (i) Dr aw a cir cle wit h any convenient  r adius.  

 (ii) The angle of  t he sect or  f or  A is 117°.  

 (iii) Cont inue dr awing t he r emaining cent r al angles.  

 (iv) Shade t he sect or s so obt ained wit h dif f er ent  design and label each of  t hem.  

 

 

6.  For t he development  of  basic inf rast ruct ure in a dist rict ,  a proj ect  of  Z108 crore  

   approved by Development  Bank is as f ollows:  

I t em Head Road Elect ricit y Drinking wat er Sewerage 

Amount  in crore   (` ) 43.2 16.2 27.00 21.6 

Dr aw a pie char t  f or  t his dat a.  

Sol. Cent r al angle f or  an it em  = 
஺௠௢௨௡௧	௔௣௣௥௢௩௘ௗ	௙௢௥	௔௡	௜௧௘௠்௢௧௔௟	௔௠௢௨௡௧ 	× 		360଴  

  Calculat ion of  pie char t  
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7.  The f ollowing data represent s the approximate percentage of  wat er in various oceans.   

    Prepare a pie chart  f or the given data.              [NCERT Exemplar] 

 Pacif ic    40%  

 At lant ic    30% 

  I ndian   20% 

  Ot her s    10%  

Sol.   Tot al angle at  t he cent r e of  t he cir cle is 360°, we make a t able t o f ind t he cent r al angle 

 of  t he sect or s.  

 

The pie char t  is dr awn as f ollows:  
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8.  Sonia picks up a card f rom t he given cards.             [NCERT Exemplar]  

 

Calculat e t he pr obabilit y of  get t ing  

  (i) an odd number     (ii) a Y car d  

  (iii) a G car d     (iv) B car d bear ing number  > 7  

Sol.    (i) Odd number  in t he given car ds ar e 1, 3, 5, 7 and 9  

      Number  of  f avour able out comes = 5  

      Tot al number  of  out comes = 10  

      Pr obabilit y of  get t ing an odd number  =
ே௨௠௕௘௥	௢௙	௙௔௩௢௨௥௔௕௟௘	௢௨௧௖௢௠௘௦୘୭୲ୟ୪	୬୳୫ୠୣ୰	୭୤	୭୳୲ୡ୭୫ୣୱ	     

        =
ହଵ଴ = 	 ଵଶ 

   (ii) The Y car ds ar e 2, 3, and 8  

    Number  of  f avour able out comes = 3  

   Tot al number  of  out comes = 10  

   P(get t ing a Y car d) = 
ଷଵ଴  

  (iii) The G car ds ar e 7 and 10.  

    Number  of  f avour able out comes = 2  

   Tot al number  of  out comes = 10 

    P(get t ing a G car d) = 
ଶଵ଴ =

ଵହ  

  (iv) B car d bear ing number  > 7 is zer o.  

          Favour able number  of  out comes = 0  

   P(get t ing B car d bear ing number  > 7) = 
଴ଵ଴ = 0  
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9.  Observe the hist ogram f igure and answer t he quest ions given below:    

 

   i. What  inf or mat ion is being given by t he hist ogr am?  

  ii. Which gr oup cont ains maximum gir ls?  

  iii. How many gir ls have a height  of  145 cm and mor e?  

  iv. I f  we divide t he gir ls int o t he f ollowing t hr ee cat egor ies, how many would t her e be in 

each?  

   150 cm and mor e—Gr oup A  

   140 cm t o less t han 150 cm—Gr oup B  

   Less t han 140 cm—Gr oup C 

Sol.   i. The above hist ogr am r epr esent s t he height  (in cm) of  gir ls of  Class VI I I .  

 ii. The gr oup 140 - 145 cont ains maximum number  of  gir ls (which has as much as 7 gir ls).  

 iii. 7 gir ls (= 4 + 2 + 1) have a height  of  145 cm and mor e.  

 iv. Number  of  gir ls in  

  Gr oup A  : 150 cm and mor e = 2 + 1 = 3 gir ls 

  Gr oup B : 140 cm t o less t han 150 cm = 7 + 4 = 11 gir ls 

  Gr oup C : Less t han 140 cm = 1 + 2 + 3 = 6 gir ls 
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1.  I t  is known that  a box of  100 elect ric bulbs cont ains 8 def ect ive bulbs.  One bulb is  

   t aken out  at  random f rom the box.  What  is t he probabilit y that  the bulb drawn is :   

   [NCERT Exemplar]  

  (a) def ect ive  

  (b) non-def ect ive. Sol. Since,  

       Tot al no. of  out comes = 100 (bulbs)  

        Tot al no. of  def ect ive bulbs = 8  

        Then, Tot al no. of  non-def ect ive bulbs = 100 - 8 = 92  

       We know t hat ,  

     Pr obabilit y of  an event , P(E)  

     = 	 ୊ୟ୴୭୳୰ୟୠ୪ୣ	୭୳୲ୡ୭୫ୣୱ	୘୭୲ୟ୪	୬୳୫ୠୣ୰	୭୤	୭୳୲ୡ୭୫ୣୱ			 
 

  Ther ef or e,  

  (a) P (def ect ive bulbs) = 
଼ଵ଴଴ 	 = ଶଶହ 

  (b) P (non-def ect ive bulbs) = 
ଽଶଵ଴଴ 	 = ଶଷଶହ  

 

 

 

1. The f ollowing pie char t  depict s t he expendit ur e of  a st at e gover nment  under  dif f er ent  heads.  

 i. I f  t he t ot al spending is 10 cr or es, how much  

    money was spent  on r oads?  

 ii. How many t imes is t he amount  of  money spent  on  

      educat ion compar ed t o t he amount  spent  on r oads? 

 iii. What  f r act ion of  t he t ot al expendit ur e is spent  on  

                bot h r oads and public welf ar e t oget her ?  

Sol.  i. Tot al expendit ur e = 10 cr or es 

    Money spent  on r oads = 10% of  10 cr or oes 

    = 
ଵ଴ଵ଴଴ 		× ݏ݁ݎ݋ݎܿ	10		 =  ݁ݎ݋ݎܿ	1

 ii. The amount  of  money spent  on educat ion = 25% of  10 cr or es 

         = 
ଶହଵ଴଴ 		× 		10	 =  ݏ݁ݎ݋ݎܿ	2.5

 

I .  High Order Thinking Skills [HOTS] Quest ions.  

I I .  High Order Thinking Skills [HOTS] Quest ions.  
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ெ௢௡௘௬	௦௣௘௡௧	௢௡	௘ௗ௨௖௔௧௜௢௡ெ௢௡௘௬	௦௣௘௡௧	௢௡	௥௢௔ௗ௦	 =

ଶ.ହ	௖௥௢௥௘௦ଵ	௖௥௢௥௘ = 2.5  

   Money spent  on educat ion is 2.5 t imes Money spent  on r oads. 

 iii. Tot al expendit ur e spend on r oads and public welf ar e t oget her . 

    = 20% + 10% 

  Requir ed f r act ion =
ଷ଴ଵ଴଴ 	 = ଷଵ଴ 

2. I dent if y which symbol should appear  in each sect ion.     [NCERT Exemplar ] 

 

Sol. Tot al value 800 + 700 + 550 + 450 = 2500 

 32% r epr esent s 
ଷଶଵ଴଴ 		× 2500	 = 800 

  Ther ef or e, 32% r epr esent s t he symbol 

 28% r epr esent s 
ଶ଼ଵ଴଴ 		× 2500 = 700 

 Ther ef or e 28% r epr esent s t he symbol 

 22% r epr esent  
ଶଶଵ଴଴ 	× 2500 = 550 

  Ther ef or e 22% r epr esent s t he symbol 

 18% r epr esent s 
ଵ଼ଵ଴଴ 		× 		2500 = 450 

 Ther ef or e 18% r epr esent s t he symbol 

 

 

1.   (a) I n a lot t er y, t her e ar e 10 pr izes and 20 blanks. A t icket  is chosen at  r andom, what  is 

t he pr obabilit y of  get t ing a pr ize ?  

  (b) St udy t he f ollowing pict ogr aph and answer  t he quest ions given below it .  

 

I .  Value Based Quest ions.  
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  (a) How many car s wer e pr oduced in t he mont h of  J uly ?  

  (b) I n which mont h wer e maximum number  of  car s pr oduced ?  

Sol.   (a) Since, t ot al no. of  out comes = 10 + 20 = 30  

   Pr obabilit y of  an event ,  

(ܧ)	ܲ   =
୊ୟ୴୭୳୰ୟୠ୪ୣ	୭୳୲ୡ୭୫ୣୱ	୊ୟ୴୭୳୰ୟୠ୪ୣ	୭୳୲ୡ୭୫ୣୱ	   

  Then, P(get t ing a pr ize) = 
ଵ଴ଷ଴ = 	 ଵଷ 

  (a) 250 car s wer e pr oduced in t he mont h of  J uly.  

  (b) Maximum number  (= 400) of  car s wer e pr oduced in t he mont h of  Sept ember .   

 


